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Sub-Section 1d: 201298274
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2012982333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When vou place the mouse pointer on any of the buttons and do not click in a moment, vou will see that title displays
the name of the button. This helpful feature is known as:

Options:

, « Tool Tips

> % Micro Tips

- » Help Tips

4 % Click Tips

Question Number : 1 Question Id : 2012982333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 2 Question Id : 2012982334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which shortcut key is used to change the size of the chart without changing its proportion in MS Excel?

Options:
1 « Shift
o R Al

z ® Ctrl



4 % F11

Question Number : 2 Question Id : 2012982334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Excel &, form ofcwe F=0 &7 3901 =€ & 90 1 550 fen 3T 3TN # #ge- & fa
Options:

|« Shift
2 ® Ctrl

s % F11

Question Number : 3 Question Id : 2012982335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word 2016, what is the maximum number of lines you can set for a Drop Cap?

Options:
1 ® 6

2 ¢ 10

Question Number : 3 Question Id : 2012982335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Word 2016 &, 319 7 & v Fufta sfoeaw sear fr gar ar 32
Options:
1 % 6
> « 10

Question Number : 4 Question Id : 2012982336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following shortcut keys is used to copy formatting in Word 2016?

Options:
1 % Ctrl+C
> # Shifi + C

3 o Ctrl + Shift + C

.

Alt+C

o=
®

Question Number : 4 Question Id : 2012982336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Word 2016 & wrfeeT &r &t & v fmafaf@a & & oy aéwe o &1 swanT faar s 82

Options:

L % Ctl + C
. % Shift + C
- « Ctrl + Shift + C

4% Alt + C

Question Number : 5 Question Id : 2012982337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A includes the file name and possibly a directory of folder.

Options:
, w File information packet

> % File button

o  File directory

4 = File specification

Question Number : 5 Question Id : 2012982337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 6 Question Id : 2012982338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which option is NOT on the Insert Ribbon of Microsoft Word 20107

Options:
; = Shapes

> w Clip Art

5 » PageNumbers

4 « Thesaurus

Question Number : 6 Question Id : 2012982338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Microsoft Word 2010 & 38 &a 9T &7 T TFeT g 7
Options:
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Question Number : 7 Question Id : 2012982339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the default file extension for all Word documents?
Options:

1 8 .IxXt



> # wrd

4 « .doc

Question Number : 7 Question Id : 2012982339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

7 Word Ea=aT & T fBwiee wge vameas +ar g7
Options:

- % .wrd
z = il

4 « -doc

Question Number : 8 Question Id : 2012982340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT displayed on the Review tab in Microsoft Office Word 20077

Options:
. w Spelling & Grammar

Thesaurus

[
®

Word Count

L
®

4 « Insert Table

Question Number : 8 Question Id : 2012982340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Microsoft Office Word 2007 & Review ¢& 9T T 9&i3Id Jar &/l 87
Options:
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Question Number : 9 Question Id : 2012982341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A device that connects to network without the use of cables is said to be:
Options:

1 % distributed

> % free
= % centralised

4 « wireless

Question Number : 9 Question Id : 2012982341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 10 Question Id : 2012982342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft Excel allows users to bring together copies of workbooks that other users have worked on

independently.
Options:

, % copying
o o Ierging
5 % Dpasting

4 » compiling



Question Number : 10 Question Id : 2012982342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 2012982343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A controls a particular type of device that is attached to your computer, such as printer, a kevboard or a mouse,
Options:

, % Dboot program

> % assembler

5 » BIOS (basic input / output system)

4 « device driver

Question Number : 11 Question Id : 2012982343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 12 Question Id : 2012982344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which option in Windows 10, Microsoft Intune will remove only company data managed by Intune?
Options:
, w Sorted wipe

-~ % Partial wipe
-  Full wipe

4 % Selective wipe

Question Number : 12 Question Id : 2012982344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Windows 10 & ®iF @ faeed, Intune ZaRT JafOT shae F9=T 32T H Microsoft Intune geT 97
Options:
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Question Number : 13 Question Id : 2012982345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which shortcut key is used to move to the end of a text box in MS PowerPoint?

Options:
1 ® END
> « CTRL +END

s # ESC

4 % ALT+END

Question Number : 13 Question Id : 2012982345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS PowerPoint # ZaFe dlF8 & 3d # 1= & fow 5w icae F=i &1 33T frar smar g7



Options:

, % END
» ¢ CTRL + END
2 # ESC

4 % ALT + END

Question Number : 14 Question Id : 2012982346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to display Show/Hide ink markup in MS PowerPoint?

Options:
1 % ALT+I

> % ALT+M
s « CTRL+M

4 % CTRL+1

Question Number : 14 Question Id : 2012982346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint 7 ‘5% AT G@me/gut wefila &= & v Fot §aee #4r 82

Options:

. % ALT + |
> % ALT + M
- ¢ CTRL + M

4 % CTRL + |

Question Number : 15 Question Id : 2012982347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to copy a picture of the screen to the Clipboard in MS PowerPoint?

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:

1. SHIFT + PRINT SCREEN



> Fn+PRINT SCREEN
s ALT +PRINT SCREEN

4 CTRL +PRINT SCREEN

Question Number : 15 Question Id : 2012982347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS PowerPoint # fFervels o TR & arER & giafafy gaa F v =i gaes &7 22

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.
Options:

1. SHIFT + PRINT SCREEN

» Fn + PRINT SCREEN
2 ALT + PRINT SCREEN

4 CTRL + PRINT SCREEN

Question Number : 16 Question Id : 2012982348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following options you select to find words that look the same but when spelt they are different?
Options:

1 % Sounds Like

> « Match case

5 » Find whole word only

4 » Find all word forms (English)

Question Number : 16 Question Id : 2012982348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 2012982349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A will automatically expand and shrink the table as a user adds or removes data.

Options:

, % static range

> % function
z % module

4 « dynamic range

Question Number : 17 Question Id : 2012982349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 18 Question Id : 2012982350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
By default. a Pivot Table any text field.

Options:
1 # sums

5 « counts



- w average

4 % SOpYy

Question Number : 18 Question Id : 2012982350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Bree 9 T, % fEe afeer & o= fres FAT gl
Options:

5  FTOTAT FHIdr
T ® Bﬁﬁﬁﬁm

L STafaRr adr

Question Number : 19 Question Id : 2012982351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
source data will have no blank rows or columns and no subtotals used for creating pivot table.

Options:
1 % Universal

> % Local
3 « Perfect

4, » Partially correct

Question Number : 19 Question Id : 2012982351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 2012982352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the output of decryption algorithm.
Options:

; w Ciphertext

> % Abnormal
3 « Plaintext

» English

Question Number : 20 Question Id : 2012982352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 21 Question Id : 2012982353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Aln) is a person who creates a fake online profile with the intention of deceiving someone else.

Options:
. w Pphisher

Sparmner

ra
®

5 o catfish

&,

4 % admin



Question Number : 21 Question Id : 2012982353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 2012982354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
virus can infect a file without changing the size of the file by using only empty sections, making it more
difficult to detect.
Options:
, % Memory

> % Stealth
z ® MBR

4  Cavity

Question Number : 22 Question Id : 2012982354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 23 Question Id : 2012982355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
How is the resolution of the screen changed in Windows 10?

Options:
, « Display Settings -> Display -> Resolution

» % Display Properties -> Notification & Actions

- » Display Properties -> Projecting to this PC

, % Display Properties -> Tablet mode

Question Number : 23 Question Id : 2012982355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Windows 10 & B & Rafeqe= &1 358 TR sgar S1ar 87

Options:
,  Display Settings -> Display -> Resolution

- » Display Properties -> Notification & Actions
- » Display Properties -> Projecting to this PC

4 » Display Properties -> Tablet mode

Question Number : 24 Question Id : 2012982356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

To resize a window in two directions simultaneously drag the mouse pointer
Options:

, w horizontally

- % Vvertically

-  diagonally

4 % None of the given options

Question Number : 24 Question Id : 2012982356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 25 Question Id : 2012982357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A algorithm uses one key for encryption and another for decryption.
Options:
1 % secret

- % personal

= % shared

4  Dublic

Question Number : 25 Question Id : 2012982357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 26 Question Id : 2012982358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘What is the extension of Rich Text Format?
Options:

1 ® 1t



P atf
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4 % .rtes

Question Number : 26 Question Id : 2012982358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fr=r 2 wiAT (Rich Text Format) T TaFHEIeT &7 £7

Options:
1 B .t

o o rtf
o #® rifs

4 % .rtes

Question Number : 27 Question Id : 2012982359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Arrange the monitors according to their consumption of energy. (from lowest to highest)

Options:
, = LCD,LED, CRT
» % LED, CRT,LCD

s % CRT,LCD,LED

4 v LED,LCD, CRT

Question Number : 27 Question Id : 2012982359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. -» LED, LED, CRT
- LED; CRE, LCD

- » CRT, LCD, LED



. v LED, LCD, CRT

Question Number : 28 Question Id : 2012982360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Operating system is an example of software.

Options:
, % Aapplication

> % web based

3 o System

4 % business

Question Number : 28 Question Id : 2012982360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 29 Question Id : 2012982361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A typical commercial test execution tool would NOT be able to perform:

Options:
| « generating expected outputs
- % recording test input

- % comparison of expected outcome with actual outcome

, = replaying inputs according to a programmed script



Question Number : 29 Question Id : 2012982361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 2012982362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Translation ScreenTip =

v @ 0 % g

5et Language
Spelling &!Research Thesaurus Translate .
Grammar

123 Word Count
Observe the above figure and fill the blank.

The options in the above picture are under tab.
Options:
,  Proofing

> % Comments
5 # Iracking
4 # Changes

Question Number : 30 Question Id : 2012982362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
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Question Number : 31 Question Id : 2012982363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Replace ? in the given statement with suitable option.

Here is the path to make whole text into small letters.

— —» —
Home ?  Case Change Lowercase

Options:
1 « Font

-~ u Paragraph
5 # Styles

, » Editing

Question Number : 31 Question Id : 2012982363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 32 Question Id : 2012982364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a browser?

Options:
1 #% Chrome

- % Internet Explorer

5 % Opera

4  Startpage

Question Number : 32 Question Id : 2012982364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

SAH W FAT, T3S ALl 87
Options:

1 # Chrome

- % Internet Explorer
5 » Opera

4  Start page

Question Number : 33 Question Id : 2012982365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the procedure to upload a file from MS Word to Google Doc?

Options:
| « Open Google Drive, click it and log in to your Google account, Click New and File upload.
-~ » Click Upload button. go to hard drive. select the file and click submit/open button.

5 % Click Upload button. go to open drive folder, select the file and click submit/open button.

4, = Click Upload button. go to CD drive, select the file and click submit/open button.



Question Number : 33 Question Id : 2012982365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 34 Question Id : 2012982366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
At what stage can you specify the password setting during installation of modem?

Options:

, w» Immediately after login

o o After selecting connection type

5 u After setting date and timing

4, % User cannot change password

Question Number : 34 Question Id : 2012982366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 35 Question Id : 2012982367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 35 Question Id : 2012982367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Directory creates document/s containing a catalogue or printed list of address in Mail Merge.
Options:

| « asingle

> % double
5 u triple

4 % many

Question Number : 36 Question Id : 2012982368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ADSL stands for:
Options:

|« Asymmetric Digital Subscriber Line

- u Acyclic Dynamic Subscriber Line

- u Accurate Digital Service Line

4 # Asynchronous Data Service Line

Question Number : 36 Question Id : 2012982368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



ADSL ¥ forr gg=a g gl
Options:

. «» Asymmetric Digital Subscriber Line (vf&A{is Boca aeawmR aE)

, » Acyclic Dynamic Subscriber Line (THTEFAF SIAATHF HeHHZaR oIs)

. » Accurate Digital Service Line (Trge foew afew @mEa)

Asynchronous Data Service Line (Tfe=g 2o wfew m==)

4 ®

Question Number : 37 Question Id : 2012982369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Slow speeds are one of the biggest disadvantages associated with Internet service.

Options:
, w fiberoptic

-~ % ADSL
3 o satellite

4 % cable broadband

Question Number : 37 Question Id : 2012982369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

Question Number : 38 Question Id : 2012982370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
As the service i1s ‘ON" all the time it has a possibility of getting hacked.

Options:



, % Hber optic (otherwise known as FiOS)

> % cable modem
= « DSL

4 » satellite

Question Number : 38 Question Id : 2012982370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T &% AT ‘I W AT $HF g & A HT FHEA FAT @ gl
Options:

| » BN 3ew (B FiOS & @7 § ST =1aT 2)

> % hee ATEH
- » DSL

4 % 3998

Question Number : 39 Question Id : 2012982371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

With mternet service, you will KOT be able to watch streaming movies, listen to streaming music, or browse at
a lightming fast Internet spead.

Options:

, « dial-up

- # satellite

5 % fiber optic

4 % DSL

Question Number : 39 Question Id : 2012982371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 40 Question Id : 2012982372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
colloguially termed a welb address, is a reference to a web resource that specifies its location on a computer

fetwork and a mechanizm for refriaving it
Options:
, w Universal Range Location

> « Uniform Resource Locator

= % Universal Resource Locator

4 # Universal Remote Locator

Question Number : 40 Question Id : 2012982372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

.« Universal Range Location (Ffawe I )
.  Uniform Resource Locator (Tfews REe )
. » Universal Resource Locator (Ffeawe EE a)

, » Universal Remote Locator (Tfeaae AR @)

Question Number : 41 Question Id : 2012982373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The process of detenmining semantic similarity between http.dexample.com’ and hitp,Awwaexample.comd is known as:
Options:

1 + URL normalisation



- % URL balancing

5 % URL support

4 % URL modification

Question Number : 41 Question Id : 2012982373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

hittp./lexample.com/ T htto /fwww example.com/ F 99 FY T (BT mawa Buifg &= @
ofsFar &t T FET ST 57

Options:

.+ URL HTHR

_ « URL §ga=

- = URL #&d=

4 » URL Teftera

Question Number : 42 Question Id : 2012982374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What are the different types of list present in paragraph group under the Home tab in MS Word?

Options:
= Multi-level list. Bullets

-~ % Bullets, Numbering

= % Bullets

s Numbering, Bullets, Multi-level list

Question Number : 42 Question Id : 2012982374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 43 Question Id : 2012982375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the hard copy of a document?

Options:

, « Printed on a printer

> % Stored in a floppy

=z % StoredinaCD

4 # Stored in a hard disk

Question Number : 43 Question Id : 2012982375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 44 Question Id : 2012982376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

CPU 1s5ucs adidresses, data and control signals and receives instructions, data, status signals and intermupt requests, This
commurtication is cartied out throuzh a gvstem bus. Therefore, an abligarory component of the CPL 15 an interface for
the system bus referred 10 as

Options:

1 « bus control block



- % instruction block
= % address block

4, % control sequencer/control generator block

Question Number : 44 Question Id : 2012982376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 45 Question Id : 2012982377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A series of instructions that tells a computer what to do and how to do it is called a:

Options:
1+ progratn

> % command

5 % Userresponse

4 % Drocessor

Question Number : 45 Question Id : 2012982377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 46 Question Id : 2012982378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who invented the keyboard?

Options:
1 % Steve Jobs

> % James Gosling
5 % Alfred Marshall

4 Christopher Latham Sholes

Question Number : 46 Question Id : 2012982378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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5 % 3o AT
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Question Number : 47 Question Id : 2012982379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Excel is used for:

Options:

| % creating presentations

creating documents



2 % sending mails

creating spreadsheets

Question Number : 47 Question Id : 2012982379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel & 39arT 5w o &g amar 22
Options:
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o ® N
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Question Number : 48 Question Id : 2012982380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following systems do the digital computers use to encode date and programs?

Options:
1 % Semiconductor

- % Decimal
o  DBinary

4 % RAM

Question Number : 48 Question Id : 2012982380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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. % RAM

Question Number : 49 Question Id : 2012982381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Modern card readers are the that can read plastic cards embedded with either a barcode, magnetic strip,

computer chip or another storage medium.
Options:
1 % virtual devices

- % wi-fi devices
- o electronic devices

4 % bluetooth devices

Question Number : 49 Question Id : 2012982381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 50 Question Id : 2012982382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
improves hard disk performance by anticipating data needs.

Options:

, % Disk defragmentation

-  Disk caching

- % Disk formatting



4 » Disk writing

Question Number : 50 Question Id : 2012982382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 51 Question Id : 2012982383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In a digital camera. the and shutter admit the correct amount of light to the imager.

Options:
1 % lens

-  diaphragm
- u Optical sensor

, % adjusting glass

Question Number : 51 Question Id : 2012982383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 52 Question Id : 2012982384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For which of the following experiences have the webcams been used online?

Options:
|« Augmented reality
> % Internet routing

- » Internet bridging

, » Internet packet classification

Question Number : 52 Question Id : 2012982384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Id : 2012982385 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Feal the given passage and answer the questions that fellow,
Dunlop Tvres

It wras the wear 1588, Young John Boyd Dunlop stood watching
hiz litfle son riding his tricycle on solid mbber tyres over cobbled
ground.

He noticed that his son could not ride fast and was not
comfortable at all, 5o (o make his ride comfortable he took his
iricyele and wrapped the wheels wiih thin rubber shesis, plusd
rhem together and inflared them with a football pump,

A year Iater, Tnlop’s son hed to participate in A racing event on

a bicvele. Dundop used (ke same idea Lo cover the wheels,

Sure enough, the boy raced far ahead of his rivals ---s0 smooth
wis his ride.

In his effort (o mve his son a smooth ride, Dunlop had iovented
something which was geing o take the workd by storm. He had
notr only invvented the first air cushioning system bt also laid the
foundation for the fitst pricumetic baoe.

Dunlop =aw preat opportunity in this. He mnmediately patented
his idea and decided to develop ir itne a comumercial venturs, thus
founding the famous Dunlep Pneumatic Tyvee Co. Lud.

Ihere was 0o loaking back for Dunlop, Starting in 15940 with the
first Byre plant in Dublin, Treland he went on to expand his
siness to other conntries scross BEurope Asis, Anstralia and the

s

In tarentyr srears” time he had msde the salid fyre obhsolete. He had
now established the fosl elobal muliinational company which
eotanufaciured worldwide, md sold worldwide,

In keeping with 1ts foundme Gather™s entrepreneunial spanl, e
company realized that to be a successful mmlfinational corparation
the company would have fo remain a pictieer in research and
development as well 8 in business. Dunlop’s objoctive was to
contitmpously produce better products to enhance the performance

of vehicles and the driving experience of its drivers.

By the start of World war TT Dunlop became a buzz word for
success, 1T was matfacturing ot just teees but also brakes,
wheels, soll and tenmds balls, eoring and other industnal rubber
producrs.

Tt was a supremacy that was 1o [ast until the end of the 19005,



Sub questions

Question Number : 53 Question Id : 2012982386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Dunlop’s idea of fitting the cycle with thin rubber sheets in

order to make the ride smoother for his son can be called

Options:
| % an event

5 of an mventon

2 % a discovery

, w anenterprise

Question Number : 54 Question Id : 2012982387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following statements is NOT correct?

Options:
, w Dunlop at once patented his idea.

-  Dunlop was tired of managing his business.

- % Dunlop’s business spread across continents.

, = Dunlop started a commercial venture.

Question Number : 55 Question Id : 2012982388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Dunlop did NOT venture into:

Options:
, w research and development

- » manufacturing pneumatic tyres

5 % becoming a multinational company

4  Setting up power plants



Question Number : 56 Question Id : 2012982389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
After reading the story one can say that Dunlop was

a

Options:
, w Herce competitor

o « successful entrepreneur

= % failure at business

4 % greatscientist

Question Number : 57 Question Id : 2012982390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
It was a supremacy that was to last until the end of 1960s.

This implies that:
Options:
1 # he decided to close down his business

-~ % Dunlop products were still in demand

- « Other companies introduced better products

4 » Other companies bought his company

Question Id : 2012982385 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension
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Sub questions

Question Number : 53 Question Id : 2012982386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 54 Question Id : 2012982387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 55 Question Id : 2012982388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 56 Question Id : 2012982389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 57 Question Id : 2012982390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Section Id : 201298276
Section Number : 3
Section type: Online
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Number of Questions; 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 201298276
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012982391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A gum of T 16800 is divided into two parts. One part is lent at the simple rate of interest 6% per annum and the ather at

5% per annum. After 2 years the total sum received is T 19000, The sum lent at rate of 6% simple interast iz
Options:
1« T 12200

> % T 12000
= % T 11000

4 % T 10000

Question Number : 58 Question Id : 2012982391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2 16,800 1 T & =W & Reniea $7 F9T § UF BEE @R = & 6% 9 3% W AT g
8% wier =% Fr g & fomy =mav 1 2 9 F e wrow = 0T T 19,000 #1 6% WmmeT TS #r g W
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Options:

, v £12,200
, % 12,000
. = 11,000

, % 10,000

Question Number : 59 Question Id : 2012982392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

There are 40 students in V=A, The average weight of these students 15 42 kg, One of the students leaves the class and the
averaze weizht of the class drops by 150 grams. What is the weight of the student wh [eaves the class?

Options:

; % 45kg

, » 46.85kg



L, o 47.85kg

. % 48.15kg

Question Number : 59 Question Id : 2012982392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

VAR DT mom s L gt o d e o s oT et it o
sitan =7 150 g o BT =007 &) SET TiEe I o7F &7 g2 #47 £7

Options:

, % 45 kg
, % 46.85 kg
.« 47.85 kg

, x 48.15 kg

Question Number : 60 Question Id : 2012982393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The ratio of the ages of Tina and Rakesh is 9 ; 10, Ten vears agoe, the ratio of their ages was 4 ; 5. What is the present
age of Rakesh?

Options:

| % 25 years

5 of 20 vears

5 % 30 years

4 % 24 years

Question Number : 60 Question Id : 2012982393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % 25 9§

o v 20 T



s % 30 I

4 % 24 T

Question Number : 61 Question Id : 2012982394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A starts a business by investing T 28 000, After 2 months, B joins with T 20,000 and after another two months C joins
with ¥ 18.000. At the end of 10 months from the start of the business. if B withdraws T 2,000 and C withdraws ¥ 2,000,
i what ratio should the profit be distributed among A, B and C at the end of the vear?

Options:

joo® 12T S

4% TS

Question Number : 61 Question Id : 2012982394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 125 T2k
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Question Number : 62 Question Id : 2012982395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the given information carefully to answer the questions that follow:

A committee of five members is to be formed out of:

3 Trainees, 4 professors and 6 research associates. In how many different ways can this be done if —

The committee should have 2 trainees and 3 research associates?

Options:
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1 % 15

- ® 45
o W 60

4% 9
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What should come in place of the question mark (?) in the following questions?

475 + 64% of 950 =900 + ?

Options:
1« 183

5 % 233
- % 1983

4 % 1863

Question Number : 63 Question Id : 2012982396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
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475 + 64% of 950 = 900 + ?
Options:

.« 183

o % 233

- = 1983

, = 1863
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Question Number : 64 Question Id : 2012982397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Study the following arrangement of letters, digits and symbols to answer the question given below.

201298277
4

Online
Mandatory
6

6

6

Yes

No

1
201298277
Yes

T9BQ=%25RJSL3I@YMEG68*+DF4BHT T

Three of the following four options are alike in a certain way based on the positions of the elements in the given

arrangement and hence form a group. Which of the options does NOT belong to the group?

Options:
L % *+8D6
>, x YM@E3

. x @Y3ML

. BH47D
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Study the following arrangement carefully to answer the question below.

MIESREIAKTE#PSUDINAS®WFHZI@EIW

Thres of the following four opfions are alike in a cerain way and so form a group. based on the above arrangemant.
Which option is the one that does NOT belong to that group?

Options:
;% %HN

o R 145
2 S ODE

4 % 3K$
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. % % HN
- 9DE
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Which of the following words will come third if all of them are arranged alphabetically in a dictionary?
Options:

| % Sport

5 of Spouse

= % Squash

4 % Sporadic
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Options:

| % Sport

5 Spouse

5 % Squash

4 % Speradic
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Which of the following words will come third if all of them are arranged alphabetically in a dictionary?
Options:

1 # Nature



> o Native
= % Narrate

4 % Nascent
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Options:

1 % Nature

> « Native
= % Narrate

4 % Nascent
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Which of the following is the same as ode, ballad. and lyric?

Options:
1 % Prose

» w Epic
= o Sonnet

4 % Precis
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Criven words are related in a certain way. Which of the following options has the words having the same relation?

France ; Spain ; Germany
Options:
, % Japan : China : Turkey

-~ » SriLlanka: Japan : India

5 o I1aq: Kuwait : Iran

4 % Canada : California : Mexico

Question Number : 69 Question Id : 2012982402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The World Trade Organization (WTO) came into effect in:

Options:
1 ® 1990

5 % 1993
5 1995

4 % 1997
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freg coaR T@etea (WTO) &g a¥ gsrg & smar?
Options:

% 1990

o = 1993
2« 1995

. % 1997
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Which county hosted the 1990 Commonwealth Games?
Options:
Scotland

®

i,

&,

> « New Zealand
-z # Canada

Kenya
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Please select the best option for following:

Assertion (A) : Aksai Chin is desolate and the driest part of the
Ladakh region.

Reason (R) : the whole area bears a stamp of excessive aeolian
erosion.

Options:
, » Both A andR are true and R is the correct explanation of A

> % Both A and are true and R is the correct explanation

% « A istrue but R is false

4 % A s false but R is true
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Which of the following is the correctly matched pair?

Mineral District with large/significant commercially Important deposits

A. Apatite Visakhapatnam
B. Chromite Cuttack
C. Gold Nagpur
D. Gypsum Anantapuram
Options:
1« AandB

> % ABandC
. % ABandD

, % B.CandD
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Panchayati Raj in India represents
Options:

, w decentralisation of powers

- % participation of the powers

5 » community development

4 w All of the given options
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Consider the following statemenss:

1. Union Territories ars not representad in the Rajva Sabha,

It 15 within the purview of the Chief Election Commuissioner 1o adjudicate the election disputes.

3. According to the Constitution of India, the Parliament consists of the Lok Sabha and the Rajyva Sabha. only

Which of the statements given above is/are correct?

Options:
; » Onlyl

> % 2and3
3 #® land3

4  None of the given options
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Question Number : 76 Question Id : 2012982409 Question Type: TYPING TEST Display Question Number : Yes

Surmimer camps are supervised camps conducted to entertain as well as equip students with various life skills
such as tearmworls, socializing, decision making, independent and responsible living and more, [t aids the
overall developrnent of a child and children have fun during this process as they get to explore new arenas.
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Section Number : 1

Section type: Typing Test
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Question Number : 77 Question Id : 2012982410 Question Type: TYPING TEST Display Question Number : Yes

Good manners are defined as courteous behaviour of a person. & person having good manners is polite and
socially acceptalble. He possesses a behaviour that is liked by all and which shows respect towards all classes
of society. Importance of good manners can be classified into two parts. Here is a look at both these categories
to understand them well. The first in the list is importance of good manners in social life. Good Manners are a
kind of way to interact with people. It is more of an art and everyone must learn to behave well. Sorme corrumon
and known advantages of good manners are that a person with good manners is loved by all, he or she
becormes more desirable, he or she easily gets favors from everyone in the hour of need and also draws
attention. Nowadays, with proper learning and practice everyone can learn to behave decently. Cne can easily
pretend to be well mannered, but the real test of being genuine comes in adverse situations, where you could
easily lose your rmind. O, try to be kind and respectful all the times. Good manners are also important in
professional life. In job interviews, the ernplover clearly notices the etiquettes and behaviour of a person. This
is the reascon why most of the candidates fail to crack the interview, despite having irmmense technical
knowledge Hence, if vou lack good manners during interview, you may lose a golden opportunity in your
career. Even though people are aware how important it is to behave properly, they fail at times maybe because
their brain is not habitual of keeping their behaviour in tact due to nervousness. One of the reasons for this is
that we do not practice being rmannered in our day to day lives,
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